
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

df]6/ af6f] tk{m 

1 sfpn]] e[s'6L df=lj= 3f]K6] k'hf uf]7f6L df]=af= :t/f]GgtL 1,900,000.00   

2 ;fnLlj;f}gf e[s'6L df=lj= j'lQmrf}/ df]=af= dd{t 225,000.00    

3 sfpn]–e[s'6L–k'hf–uf]7f6L df]=af= 1,200,000.00   

ljB't tk{m 

1 ljB't zfvf nfO{g lj:tf/ 400,000.00    

vfg]kfgL tk{m 

1 8fkm\n] vf=kf= kfO{k vl/b tyf dd{t 40,000.00     

2 ju/vf]nf sfF8fxfNgf vf=kf= OG6]s lgdf{0f 25,000.00     

3 g9/] 6f]/]6f vf=kf= lgdf{0f 60,000.00     

4 8lbgl;d ;fgf]3f]K6] vf=kf= lgdf{0f 30,000.00     

5 sfnLdf6L cf]v/kf6f vf=kf= 6\ofËL lgdf{0f 20,000.00     

6 gb/] nfDj]nf vf=kf= OG6]s dd{t 5,000.00      

7 afSnf] cf]v/ ufdf?v vf=kf= tyf kfOk vl/b 20,000.00     

8 9fs; vf=kf= 6\ofËL lgdf{0f 20,000.00     

9 u}/fkf6f ;]nfkf6f vf=kf= tyf kfOk vl/b 30,000.00     

10 j8f sfof{no vf=kf= h8fg tyf kfOk vl/b 25,000.00     

lzIff tk{m

1 e[s'6L df=lj= sDkfpG8 3]/fjf/ 180,000.00    

2 g]/f cf=lj= zf}rfno dd{t 60,000.00     

3 hgr]tgf k|f=lj= sDkfpG8 tf/jf/ 60,000.00     

4 afn sNof0f k|f=lj= kmlg{r/ lgdf{0f 50,000.00     

5 nfnL u'/fF; k|f=lj= @ sf]7f e'FO{ 9nfg 50,000.00     

6 e[s'6L df=lj= sf] 5t dd{t ÷9nfg 400,000.00    

7 g]/f cf=lj= ejgdf 5fgf dd{t÷h:tf kl/jt{g 150,000.00    

8
hgr]tgf afn ljsf;df l;d]G6, afn'jfsf] h8fg, h:tfsf] 

5fgf;lxtsf] ! sf]7f ejg lgdf{0f 150,000.00    

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= ^ -lnjfË_
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9 afnsNof0f k|f=lj=df # sf]7f e'FO{ 9nfg 60,000.00     

s[lif tk{m

1 esf/f] ;'wf/ 50,000.00     

2 cn}rL g;{/Lsf nfuL lu|g g]6 30,000.00     

3 pGgt ds}sf] ljp vl/b ljt/0f 50,000.00     

4 cfn' uf]bfd dd{t 70,000.00     

kz' tk{m 

1 pGgt 8fn]3fF; vl/b tyf ljt/0f 50,000.00     

2 kz' vf]k ;+rfng 50,000.00     

3 cf}ifwL vl/b 50,000.00     

:jf:Yo tk{m 

1 :6]r/ vl/b 50,000.00     

2 kfgL 6\ofËL vl/b -@ j6f_ 30,000.00     

3 ufFp3/ lSnlgs eF'O 9nfg, em\ofn 9f]sf / kmlg{r/ lgdf{0f 100,000.00    

4
k'0f{ ue{jlt hfFr tyf ;+:yfut ;'Ts]/L Joj:yfkg÷ue{jtLnfO{ 

cfof]l8go'Qm g'g ljt/0f 20,000.00     

5 :jf:Yo rf}sLdf ljB't h8fg 20,000.00     

6
k=lg=, cfdf;'/Iff sfof{qmd tyf :jf=lzIff nufPtsf] sfo{qmdsf] 

nfuL 30,000.00     

nlIft ju{ 

1 afnaflnsf tk{m –

k|hgg :jf=;DaGwL, jfnjfnLsf, lszf]/–lszf]/L r]tgfd'ns tflnd 50,000.00     

2 dlxnf tk{m–

dlxnf lx+;f, 3/]n'lx+;f ;DaGwL dlxnf ;r]tgf tflnd 50,000.00     

3 blnt tk{m

5fnf h'Qf l;nfO{ tflnd 50,000.00     

4 hghftL tk{m

g]t[Tj ljsf; tflnd 50,000.00     

j8f sfof{nosf] em\ofndf uL|n tyf /+u /f]ug ;lxt ejg lgdf{0f  100,000.00    
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